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o BERAZBLEYAIIBENAMPEESE: one-hotfRwid., EirA;

o HEAZEEGEBIAMEMNE (RNN) . LSTM Bl GRU EMNI{ERIE;
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BXAESBMANET (8§, FHRE n-gram) ,

from keras.preprocessing.text import
Tokenizer

gamplng = ['caw 'y ity e

tokenizer = Tokenizer(num words=1000)
tokenizer.fit _on_texts(samples)

one hot encode =
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e one-hot {RI5: BHBHERT, BIEY; BHEIEET;
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from keras.layers import model.layers[0].set weights(
Embedding
model.add (Embedding(1000, &4, model.layers[(0].trainable =

input length=maxlen)) False
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fE¥AMZE (RNN)

BRI (feedforward network) BY[e)fi: 8HiICIZ.
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« RIAGH: BHFIEFIITE;
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e

A



i

RNNRYE R RIA: BHEFT
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output~t~ = np.tanh(np.dot{W, input~t~) + np.dot(U, state~t~) + b)
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<35HAICTZ (LSTM)
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LEFRIN_o3E: LSTMIH

from keras import models, layers

model = models.Seguential()

model.add(layers.LSTM(32, return segquences=True, input shape=
(num_timesteps, num features)))

model.add(layers.LSTM(32, return sequences=True))

model.add(layers.LSTM(32))

model.add(layers.Dense(num classes, activation='sigmoid'))
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